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Dear Students,

¢ Learning is the beginning of wealth.

% Learning is the beginning of health.

¢ Learning is the beginning of spirituality.

¢ Searching and learning is where the miracle process all begins.
......................... Jim Rohn

Holiday is the time that we all eagerly wait for. We all make plans to enjoy, to relax and
to empower ourselves during these gala days. This summer vacation the Holiday
Homework so designed by the mentors of the school is a medium for you all to achieve
the motto of “Fun and Learn” The assignments are designed in a way to foster curiosity,
develop creativity, enhance knowledge and instill the joy of learning among you all. They

will certainly help you discover a new you who is more enriched and confident and
performs every action to perfection.
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CLASS- XI

ECONOMICS

>

Make an art integrated project.

Topic:

Andaman and Nicobar Islands and Lakshadweep

Basic Instruction about project:

P.no

TOPIC

Acknowledgment

Certificate

Index

Introduction of topic

Project should include all these topic

Birth Rate of the place

Death Rate

Population density

Important economic activity

Budget provision of union territory

Statically data of tourism(Comparing Nature)

Impact of globalization

p.no

Topic

11-12

Observations and finding details

13

Conclusion

14

References

15

Remarks

>

>
>

Revise PT-1 Syllabus for Pt-1 Exam. Micro Economics —ch-1,2,3

Statistics( ch-1 Learn notes and question/answer.

Solve worksheet in your fair notebook.

Collect some information and details about “Digitization in India A cash less Economy” (write on
A4 size sheet.

BUISNESS
STUDIES

Make a collage of Indian MNC's including their name, brand mark and name, tag line and their
CEO on a chart.
Make an Art integrated project on “Andaman and Nicobar Island” industries and other business
activities performed there on A4 size sheet about 10-12 pages.(Basic instructions as same as
economic)
Make a mind map of topics of following chapters and learn these chapters also:

e Ch-1 Evolution and fundamental of business

e Ch-2 Forms of business organizations

e Ch-3 Public, Private and Global Enterprises.

ACCOUNTANCY

Y VYV YV

A.

Practice and revise PT-1 syllabus.
Make/ complete notes of ch-1,2 and 3.
Assignment: Do the enclosed worksheet.
Project: prepare a file on any 2 key industries in Lakshadweep and Andaman and Nicobar Islands
each.
Paste a printout of their balance sheet and find out the following for the financial year ended 31st

March, 2024.
Liabilities: Capital, Creditors, Outstanding expense if (any), Loans and advances(short term and long
term)




Assets: Current and Non-Current Assets.

B. Compare the financial position of industries of both islands. Instructions:
1. Questions 1-3 are to be done in subject notebook.

2. Project is to be submitted in a separate file. Show your creativity.

CHEMISTRY

Do given worksheets in your holiday’s homework notebook.
Do NCERT questions of Ch-1, 2, 3 in your notebook.
Learn Ch-1,2,3

PHYSICS

Y V|V V V

VY VY

Prepare project file for physics on topic (Motion)

(12 pages — Including front page, index , acknowledgment, Bibliography and main topics)
Complete your activity file.
Six activities- will be provided via what’s app
Complete lab manual practical file up to the Experiment which have been performed in the lab.
Do questions answers and numerical given—in the Exercises for the chapters taught in the
holidays homework notebook.

BIOLOGY

YV VY

Experiment no. 1- To study a parts of a compound microscope.

Experiment no. 2- Study and identification of spotting.

Experiment no. 3- Study of virtual specimens/ slides/ models and identification with reasons.
Ques: Make a project file on (any one):

1. Chordata vertebrata in Animal Kingdom

2. Cell cycle and phase of cell cycle

3. Endocrine glands and hormones

4. Blood

5. Skeletal System

MATHEMATICS

>

Do given worksheet.

POLITICAL
SCIENCE

*PROJECT FILE:

>
>

Prepare Art Integration project file on “Andaman and Nicobar Islands “and “Lakshadweep”
Comprehensive study of its :- Formation of origin , Population composition, Ruling party,
Constituency, Districts, Formation as Union Territory, Government and administration Economy
and infrastructure, Election history of 1°* General Election.

Do given assignment.

HISTORY

V|V

\7.

Prepare case study on any one topic given below ( A4 size sheets)

Ancient History in depth - Mesopotamia.

Piecing together there the part of Genghis Khan

Contribution of Roman civilization.

Prepare a timeline of the major developments and events from Human origins to Early
civilisations (6MYA to ICE) (In class notebook)

ENGLISH

READING:

>
>

L]
>
L]

Do the given unseen passages in your notebook and paste the sheets also.
Write the character sketches of the chapters done in the class:-

The Portrait of a lady- Khushwant Singh, Grand mother

We’re not afraid to die- Author, Marry, Suzzane, Jonathan

The summer of the beautiful horse- Aram, Mourad

The Address- The Author

Read the newspaper daily and paste the followings in your notebooks
Advertisement (5)

Posters (5)

Project Work(any one)

History, Climate, Food, Culture, Festivals of Lakshadweep Island.
History, Climate, Food, Culture, Festivals of Andaman and Nicobars Islands.

NOTE:

1. Cover of file must be decorated.

2. On A4 size sheets (maximum 10 sheets).
3. Paste pictures of each part.

4. Neat and clean.

5. Revise PT-1 syllabus.
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GEOGRAPHY | » Collect a information of 5 geographical events occurring in world during your
holidays. Write all information with details in notebook.
> Prepare a presentation on the topic assigned to you below. Also prepare a poster on a
A3 size sheet.
e Structure of atmosphere- Pooja, Shrishti, Tanvi, Amit, Sagar
e S waves shadow zone- Shubham, Dev, Riteek, Sumit, Hemant
e P waves shadow zone- others
PHYSICAL > Prepare 50 quiz on Olympic games on A4 sheets.
EDUCATION > Prepare a poster mentioning 10 points on what not to say to a person with disability. Make it

captivating using pictures or by depicting a situation.
> Write a complete report on 2024 Khelo India games on A3 size sheet.
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CLASS-XI
ACCOUNTANCY
WORKSHEET

Ques 1.Answer the following questions.
1. Define
Accounting.

2. Mention 3 functions of Accounting.
3. Mention 2 Differences between accounting and accountancy.
4. Mention the types of accounting.
5. Draw a flow chart of the users of Accounting?
6. Accounting is the language of business. Justify the statement.
7. Giving examples, explain each of the following accounting terms:

e Fixed assets

e Revenue

e Expenses

e Short-term liability

e (Capital
8. Define revenues and expenses.
9. Differentiate between profit and gain.
10. Fill in the blanks
a. The document certifying the purchase or sale of goods or any monetary transaction is called ................
b. The things or properties which help in the smooth functioning of the business and which are owned by the
business are called ................ of the business.
c. The unsold goods left at the end of the year are called .................
Ay i T represents the excess of assets over liabilities.
Practical questions:
11. Show an Accounting Equation for the following transactions:
(i) D. Mahapatra commenced business with cash X 50,000 and % 1,00,000 by cheque ; goods X 60,000; machinery
X 1,00,000 and furniture X 50,000.
(ii) 1/3rd of above goods sold at a profit of 10% on cost and half of the payment is received in cash.
(iii) Depreciation on machinery provided @ 10%.
(iv) Cash withdrawn for personal use X 10,000.
(v) Interest on drawings charged @ 5%.
(vi) Goods Sold to Gupta for X 10,000 and received a Bill Receivable for the same amount for 3 months.
(vii) Received X 10,000 from Gupta against the Bills Receivable on its maturity.
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Ques 2. Show an Accounting Equation on the basis of the following transactions:

i. | Sunil started business with cash 1,50,000

ii. | Opened a Bank Account by depositing X 25,000 out of cash

iii. | He sold his personal car for X 50,000 and deposited the amount in the firm’s Bank Account

iv. | He purchased a building and furniture for 1,00,000

v. | He purchased goods from Ram on credit 50,000

vi. | He paid cartage 500
vii. | He sold to Shyam on credit goods costing X 6,000 for 9,000
viii. | Received rent from tenants 1,000

ix. | Received security deposit from tenants 1,500

X. | Purchased stationery for cash 100

xi. | Invested in shares (personal) 50,000
xii. | Received interest in cash 200
xiii. | Introduced fresh capital 25,000
xiv. | Goods destroyed by fire 500

Ques 3.Prepare an accounting equation from the following

8 LR LA B SO it

Started business with cash 50,000

Paid salary 5,000

Rent outstanding 1,000

Accrued Intrest1,500

Interest on capital

Bought goods for cash 30,000 and on credit for 50,000.

Goods costing 10,000 sold at a profit of 25% out of which 7,000 received in cash.
Purchased a television for personal use 2,500

Ques 4. Prepare an accounting equation from the following information:

©CENOUAWNR

1-4-2011 Business started with Cash X1,50,000.

1-4-2011 Goods purchased from Manisha 236,000.
1-4-2011 Stationery purchased for cash %2,200.

2-4-2011 opened a bank account with SBI for X32,000.
3-4-2011 Goods sold to Priya for X16,000.

5-4-2011 Purchased goods from Namita for X20,000.
10-4-2011 Insurance paid by cheque %2,250.

11-4-2011 Cash withdrawn for household purpose 25,000.
13-4-2011 Interest received X250 in cash.

10. 14-4-2011 Rent paid in advance X550.

Ques 5. Show the accounting equation on the basis of the following transactions:
1.

D 00 R ) UL A8 TOR NN

O o N e T g o N
NooubhWNERO

Shri Ganesh commenced business with cash 35,000, goods X8,000 and furniture X7,000.
Bought furniture from M/s Mohan Furnitures on credit for 23,000.
Purchased goods from Sohan for cash X35,000.
Sold goods to Shyam for cash 40,000(costing $30,000).
Bought goods from Ramesh %30,000.
Sold goods to Shyam costing 30,000 for X50,000.
Received 49,500 from Shyam in full settlement.
Paid 29,700 to Ramesh in full settlement.
Paid half the amount owed to M/s Mohan.
. Withdrew 21,000 for personal use.
. Withdrew goods for personal use (cost X500, sale price X600).

. Purchased household goods for 15,000 giving X5,000 in cash and the balance through a loan.

. Paid cash X500 for loan and X300 for interest.

. Goods destroyed by fire (cost X500, sale price X600)
. Paid salary $500 and salary outstanding %100.

. Paid rent in advance X22,000.

. Accrued interest X 500.




18. Commission received in advanceX 1,000.
19. Charged depreciation of X400 on furniture.
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10.
11.
12.

POLITICAL SCIENCE
WORKSHEET -1

Explain all Fundamental Rights in detail (with their articles).

Which of the following fundamental right is in your opinion, the most important right? Summarize its
provision and give argument to show why it is important.

Constitution is a living document. Explain.

What is the difference between politician and Political Theory?

What is political theory?

Discuss the importance of fundamental rights and directive principle in the development of India democracy
and people welfare.

Explain fundamental rights of constitutional remedies. Why it is called as the heart and soul of the
constitution by Dr. BR Ambedkar.

Explain the 'harm principle' as given by J.S. Mill .

Putting Political Theory to practice is very difficult. Elaborate it with the reference to the fact that "right to
equity doesn't guarantee equal opportunity"

"Liberty and Equality maybe complementary as well as opposed to each other". Justify.

Trace the development of the meaning of the concept of freedom. How it has affected Society.

"Indian Constitution in neither too flexible and nor to rigid”. Justify.

++» Read this given situation and answer the following question:-

Astha likes sharing locations on social media, like website wherever Astha goes to a restaurant, travel, visiting
friends or family. She is in habit of adding location one day Astha noticed someone following. She got scared
and enters a shop for the protection. A few days later this happened again.

1. Is the given situation safe or unsafe?
2. What would you do if you were in a similar situation?



WORKSHEET-1
CHEMISTRY

SOME: BASIC CONCEPTS
OF CHEMISTRY.

I. Multiple Choice Questions (Type-I)

1. Two students performed the same experiment separately and each one of
them recorded two readings of mass which are given below, Correct reading
of mass is 3.0 g. On the basis of given data, mark the correct option out of the

following statements.
Student ' Readings
il (i)
A 3.01 2.99
B / 3.05 2.95

li) Results of both the students are neither accurate nor precise.
(i) Results of student A are both precise and accurate.
(iii) Results of studenl B are neither precise nor accurate.

(iv) Results of student B are both precise and accurate.

2.  Ameasured lemperature on Fahrenheit scale is 200 °F. What will this reading
be on Celsius scale?

(i) 40°C
(i) 94°C
fil) 93.3 °C
iv) 30°C

3. ;Hulaat ﬁ;‘!}!] be the molarity of a selution, which contains 5.85 g of NaCl(s) per
mi.

() Amoll’
(i) 20moll,’



My 0.2 moll!
i 2moll’

16500 mL of a 5M solution s diluted to 1500 ml., what will be the molarity of
the solution obtatned?

W 1.5M
i 1.66M
) 0017 M
(iv) 1.59M

The number of atoms present in one mole of an element is equal to Avogadro

number. Which of the following element contains the greatest number of
atoms?

il 4g He

il 46g Na
(iii) 0.40g Ca
fivi 12g He

If the concentration of glucose (C.H O)inbloodis 0.9 g L', what will be the
molarity of glucose in blood?

iil] 5M

i) S0M
fiiiy 0005 M
livi O0.5M

What will be the molality of the solution containing 18.25 g of HCI gas in
200 g of water?
ii 0.1m
i) 1M
{ifiy 0.5 m

(lvi 1 m

COne mole of any substance contains 6,022 « 10*" atoms/molecules. Number
of molecules uI"H?Hl.'Jd pressent bee VOGO il of 0,02M H_ S0 solution is
12044 « 10" molecules
i) 6.022 « 10 molecules
(i) 1 = 10°% molecules
(iv) 12,044 = 10" molecules

What is the mass percent of carbon in carbon dioxide?
i 0.034%



(i 3.4%
iv) 28.7%

10. The empivical formula and molecular mass of a compound are CH,0 and

11.

12,

13.

14,

180 g vespectively. What will be the molecular formula of the compound?
M C,H,0,

@ CHO

iy CH O

M) C,H,0,

If the density of a solution is 3.12 g mL™, the mass of 1.5 mL solution in
significant figures is

M 4.7g

(i) 4680 x 10-%g
(i) 4.680g
[iv) 46.80g

Which of the following statements about a compound is incorrect?
(i) A molecule of a compound has atoms of different elements.
(i) A compound cannot be separated into its constituent elements by
physical methods of separation.
{iii) A compound retains the physical properties of its constituent elements.

(iv) The ratio of atoms of different elements in a compound is fixed.

Which of the following statements is correct about the reaction given below:

4Fe(s) + 30, (g) — 2Fe O, (g)

(i} Total mass of iron and oxygen in reactants = total mass of iron and
oxygen in product therefore it follows law of conservation of mass.

(i) Total mass of reactants = total mass of product; therefore, law of multiple
proportions is followed.

(iii) Amount of Fe,O, can be increased by taking any one of the reactants
(iron or oxygen) in excess.

(ivi Amount of Fe,0, produced will decrease if the amount of any one of the
reactants (iron or oxygen) Is taken in excess.

Which of the following reactlons Is not correct accorvding toe the law of
conservation ol mass.
() 2Mg(s) + O fg) > ZMpO(s)
(i) C,H, (g + O,(g) s CO,(g) + H,0()
(i) P,(s) + 50,(g) —— PO, (s)
(V) CH,(g) + 20,(g) — COg) + 2H,0 (g)




.

15. Which of the following statements Indicates that law of multiple proportion is
being followed.
(i} Sample of carbon dioxide taken from any sotrce will always have carbon
and oxygen in the ratio 1:2,
(i) Carbon forms two oxides namely CO, and CO, where masses of oxygen
which combine with fixed mass of carbon are in the simple ratio 2:1.
{iiil  When magnesium burns in ux}rgﬁn. the amount of magnesium taken
for the reaction is equal to the amount of magnesium in magnesium
oxide formed.

(ivi At constant temperature and pressure 200 ml of hydrogen will combine
with 100 mL oxygen to produce 200 mL of water vapour.

Il. Multiple Choice Questions (Type-II)

In the following questions two or more options may be correct.

16. One mole of oxygen gas at STP is equal to
() 6.022 x 107 molecules of oxygen
(ii) 6.022 x 10" atoms of oxygen
(iif) 16 g of oxygen
(ivi 32 g of oxygen

17. Sulphurie acid reacts with sodium hydroxide as follows :

H,50, + 2NaOH —— Na, SO, + 2H,0

When 1L of 0. 1M sulphuric acid solution is allowed to react with 1L of 0. 1M
sodium hydroxide solution, the amount of sodium sulphate formed and its
molarity in the solution obtained is

i) 0.1 molL”
i) 7.10g
(iiif 0.025 mol L'
(ivi 3.55g

18. Which of the following pairs have the same number of atoms?
() 16 g of O,(g) and 4 g of H,(g)
(i) 16gof0,and 44 gof CO,
(i) 28gofN,and32goalO,
(ivi 12 gof C(s) and 23 g of Na(s)

19. Which of the following solutions have the same concentration?
(il 20 g of NaOH in 200 mL of solution

(i) 08 mal af Wl e O0m e L Lon sl



(iii) 40 g of NaOH in 100 mL of solution
(v} 20 g of KOH in 200 mL of solution

20. 16 g of oxygen has same numbet of molecules as in
) 16gofCO
i) 28gofN,
iii) 14 gofN,
vy 1.0gofH,
21, Which of the following terms are unitless?
ij Molality
(i) Molarity
(iii) ~ Mole fraction
(iv) Mass percent
22, One of the statements of Dallon’s atomic theory is given below:
“Compounds are formed when atoms of different elements combine in a fixed
raflo’
Which of the following laws s net related (o (his statement®
()  Lawof conservatlon of mass

(i) Lawof definite proportions
(i) Law of multiple proportions
(i) Avogadro law



WORKSHEET-2

STRUCTURE OF ATOM

I. Multiple Cheice Questions (Type-I)

L. Which of the following conclusions could not be derived from Rutherfore’s
@ - particle scattering experiement?

@ Mast of the space in the atom s vmply.
G The radius of the atom is about 10-9m while that of nucleus is 10 = m,

W Electrons move in a circular path of lixed energy called orbirs,

i Electrons and the nucleus are held together by electrostatic forces of
attraction.

2. Which of the following options does not represent ground state electronic
configuration of an atom?

0 1sT 257 2p0 387 3pf 3 487
i 1s® 2s7 2pf 357 3pF 3 45T
8  1s5® 2¢° 240 35 3p Jd' 45
vl 18" 257 2p° 35 3p° 3e” 45!

3. The probability density plots of 1s and 25 orbitals are given in Fig. 2,1

® @

Flg. 2.1

Thse denisivy of dots bna veglon vepresents (he probability density of fding
kit g dei thie reglon,



On the basis of above dingram which of the following statements is Incorrect?

M 1s and Zs orbitals are spherical In shape,
(i} The probability of inding the electron s maximum near the nueleus.

(i) The probabllity of finding the electron at a glven distance Is equal In all
directions.

(v} The probabllity density of electrons for 2s orbltal decreases uniformly
as distance from the nucleus Increases,

Which of the following statement is mot correct about the characteristics of
cathode rays?
(i} They start from the cathode and move lowards the anode.,

(i) They travel In straight line in the absence of an external electrical or
magnetic field.

(i)~ Characteristics of cathode rays do not depend upon the material of
electrodes in cathode ray tube.

(ivk  Characteristics of cathode rays depend upon the nature of gas present
In the cathode ray tube.

Which of the following statements about the electron is incorrect?
) Itis a negatively charged particle,

(i)  The mass of electron is equal to the mass of neutron,

(ill) Itis a basic constituent of all atoms,

(iv)  Itis a constituent of cathode rays.

Which of the following properties of atom could be explained correctly by
Thomson Model of atom?

(i) Overall neutrality of atom.

[ii} Spectra of hydrogen atom.
(lii)  Position of electrons, protons and neutrons in atom,
(v} Stability of atom.

Two atoms are said to be isobars if.
) they have same atomic number but different mass number.
(i) they have same number of electrons but different num ber of neutrons,
(i) they have same number of neutrons but different number of electrons.
v)  sumof the number of protons and neutrons is same but the number of
protons Is different,

The number of radial nodes for 3 porbital is

m 3
(5 4
(i 2

vy 1



L

9. Numbert of angular nodes for 4¢d 'm‘l_::llﬁll s

W 4 _ | i
i 3
iy 2
v 1 i

10.  Which of the following is :||.-«.|:mumsllﬂl1 m 1 'I:.I|E tul the existence of definite paths
or trajectories of electrons? i

il Pauli's exclusion prlrmiple, i
(i) Heisenberg's uncertainty prlin::jﬁ]ai. !
(i) Hund's rule of maximum multiplicity.
{iv)  Aufbau principle.

11. Total number of orbitals associated wilh third shell will be

20
1111 1
TR T
(), il e
12, Drhlth%ile{.tﬂ;'i.}l_nr monientum depends on
i) r'
(i  nand)

(i) ﬂ:,u;-:l:t:'ld_-{?l_
(iv) 'mands

13. Chlorine exi_a.ts in twa isotopic forms, C1-37 and Cl-35 but its atomic mass is
35.5. This indicates the ratio of C1-37 and CL35 is approximately

' 1:2
(i 1:1
(i) 1:3
(iv) 3:1

14. The pair of ions having same Elcrtrnnlc. mnﬂgunﬂnn is :
i} Cr*, Fe*
() Fe*, Mn* . .
()  Fes, Co» tietl
v Scw, Crs iy
15. For the electrons of oxygen stom, II.a||-'E';I¢.h olithe following statements is correct?

) Z_ for an electron In a 25 or |)||ll| I the same as Z  for an electron in a 2p
urhllal Lyl

) Anelectron In the 25 orbital Imu tlu'- same energy as an electron in the
Z2porbital, fii



i) 2 for an electron ln ’lh m hirnl 5 the Sarme 4§ ! rm' AN elentron in a 2s
orbital, .

vl The two electrons ]1i1!'ul‘-ll¢ i the Hsﬂr‘hllhl havid spin quantiim neombers
m_ but of opposite sign, ! . il

16. I travelling at same speods, which of thie followinig matlter waves Have the
shortest wavelength?

@ Blectron i
(i) Alpha particle (He™)

{iiil Neutron

(i) Proton HHA

I

II. Multiple Chgiize leﬁtmns: (Tlpe 1)

In the following questinns twn m- mbre nptinﬂa ma}r be correct.

{i) jzx - “:!? | :...:i-l:i;"!li!!:_.!_. '.-..i'

@ ST f '4.’%}'5--'-: |
; el T A A 14
= =11 T T
(i) ?‘:x' |?Y e T '
.:--_'|I||||-|.:I!I-' J ‘.I': [Tiy) i
14 ] { ITH T
) XNy il =-:I.'.'.'|'”.= ] y
{iv) :}L i}r ='I'II 1, I'l' fl | _.I.I_Il'l'_ fi

18. Out of the following pairs ﬂf‘nie::i rons, identify lht"-].!ii:ll!é.bfﬂ]t‘(.‘trl.)ﬂ!i present
in degenerate orbitald : '

) @ n=3 |= f&, I.!J?j;n--';'!, m = % .
) n=3 |=2/ His %

) @ nes Is), Hi;,n,l'l",l s 4 %
b) ned Ix2, ,.”I‘i: 1, ‘%

e ia} '."*‘F'; il m’;‘ﬁ'l.',;f mo= b



19.

1.

M (@ n=3, I=2, m=+2 mxh,;,

"-1':' n=3, l= 2, mrs +2 mﬁ: +

D || =—

Which of the following sets of quantum numbers are correct?

n | m,

i 1 1 +2

W 2 1 +1
i 3 2 -2
ivy 3 4 -2
In which of the lollowing pairs, the ions are iso-electronic?

) Nac, Mg

g A, 0

i) Na, 0
vy N=, Cl

Which of the following statements concerning the quantum numbers are
correct?
() Angular quantum number determines the three dimenstonal shape of
the orbital,

() The principal quantum mumber deternibnes the ordentation and energy
of the orblial,

(1) Magnetle quantum number determines the size of the orbital.

(iv)  Spin quantum number of an electron determines the orientation of the
spin of electron relative to the chasen axis,




WORKSHEET-3

Classification of Elements
and Periodicity in'Properties

I. Multiple Choice ngs_tiﬁ.ﬁs (Type-I)

1. Consider the isoelectronic S]fl_t-.'_CiES..' Na‘, Mg", F”and O". The correct order of

increasing length of their radiiis |/l
M F<O" <Mg®<Na' ||
(i) Mg”<Na' <F<0®

[ O <F <Na'<Mg"

(V) O <F< Mg’ <Na

2. Which of the following is not an actinoid?
() Curium'(Z = 96)
(i) Californium (Z= 98)
(i) Uranium (Z= 92)
(iv) Terbium (Z= 65)
3. The order of stfmﬁing effect of electrons of 5, p, d and forbitals of a given
shell of an atom on its outer shell electrons is:
(il s>p>dsf
i} f>d >p>s
(iliy p<d< s>Tr
ivi f=p>s>d

4.  The first ionisation enthalpies uf'Na. Mg, Al and Si are in the order:
(i) Na-=Mg:=Al<Si '
(ii) Na>Mg > Al>Si



10,

(i) Na< Mg« Al < S|
V) Na Mg > Al < Si

The electronic configuration of gadolinium (Atomic number 64) is
M [Xe] 47" 54" gs®

(i [Xe] 4’ 5d° gs'

(iii)  [Xe] 417 5d' 65"

i) |Xe] 4F" 54" gs°

The statement that is not correct for periodic classification of elements is:
(il The properties of elements are periodic function of their atomic num bers.
(i)  Non metallic elements are less in number than metallic elements.

(iifly For transition elements. the 3d-orbitals are filled with electrons after
3p-orbitals and before 4 s-orbitals.

(iv) The first ionisation enthalpies of elements generally increase with
increase in atomic number as we go along a period.

Among halogens, the correct order of amount of energy released in electron
gain (electron gain enthalpy) is:

il FsClsBr>1I
) F<Cl<=Br=lI
iifi, F<Cl=Br>1
ivi F<Cl<Brel

The periad number in the long form of the periodic table is equal to

(il magnetic quantum number of any element of the period.

(i) atomic number of any element of the period.
(i)  maximum Principal quantum number of any element of the period.
fivi  maximum Azimuthal quantum number of any element of the period.

The elements in which electrons are progressively filled in 4 forbital are called
(il actinoids

(i) transition elements

i) lanthanoids

(iv) halopens

Which of the followlng 1s the correct order of size of the given species:
M I=l"=1"

(i) I'=1 =1

iy I=I'=1

Wy T =1Is1"



11, The formation of the oxide on, O (@), from

12,

OXYEEN atom requires first an
step as shown bedow:

O +e » O @A H = <14 kI mol
O (@se FOREEA M = 4 TR0 K mal!

exothermic and then an eritled lerimibe

Thus process of tormation of O

in gas phase is unfavourak
O is isoelectronte witly neon, 1|

s due to the fact that,
M oxygen is more electronegative,
(i} addition of el

le even though

ectiron in oxygen resulls in larger size of the jon.
i) electron repulsion outweighs the stability gaine by achieving noble
gas configuration,

vl O ion has comparatively smaller size than OXygen atom.
Comprehension given below is followed by some multj
Each question has one correct option. Choose the correct option,.

In the modern periodic table. elements are arranged in order of increasing
atomic numbers which is related to the electronic configuration. Depending
upon the type of orbitals receiving the last electron, the elements in the periodic

) , Viz, s, - The modern periodic
table consists of 7 periods and 18 groups. Each period begins with the filling
of a new energy shell. In accordance with the Arfbau principle, the seven
periods (1 to 7) have 2, 8, 8, 18, 18,32 and 32 elements respectively, The
seventh period is still Iincomplete. To avoid the periodic table being too long,
the two series of £black elements, called lanthanoids and actinoids are placed
at the bottom of the main ‘body of the periodic table.

ple choice questions.

1a)  The element with atomic number 57 belongs to
(i} s-block
(i) p-block
(iii)  d-block
(ivi  Fblock

()  The last element of the p-block in gm
outermost electronic configuration,
) 7% 7po
(i) 571 @efio 750 pY
i) 40 5d19 gg? g po
(lv) Ao LR TR

period is represented by the

(€) ~ Which of the sloments whose
be accommodated I (e pros
Lable?

iy 107
i 118

atomle numbers ave given below, cannot
ent set up of the long form of the periodic
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(ii) 126
{ivi 102

(d)  The electronic configuration of the element which is Just above the
element with atomie number 43 in the same group is

) 1s* 2¢" 2p° 35" 3 Bdl® 48

() 1s* 2s* 2p 35t 3pi 35 dstdp
(i) 1s® 2¢* 2pp 3s% 3p8 3t 42

(v} 1s* 25" 2p° 35" 3p* 3d7 452

(e) The elements with atomic numbers 35, 53 and 85 are all
(i} noble gases
(ii) halogens
(iff)  heavy metals
(iv)  light metals

Electronic configurations of four elements A, B, C and D are given below :
(A) | 1s* 25" 2p" (B) 1s* 2s* 2p*
(€) 1s* 2s* 2p' 3s' (D) 1 2s° 2p°
Which of the following is the correct order of increasing tendency to gain
electron ;
)l A<C<B<D
(i) A<B<C<D
{liiy) D<B<C<A
(ivv D<A<B=<C

II. Multiple Choice Questions (Type-II)

In the following questions two or more options may be correct.

14,

15.

Which of the following elements can show covalency greater than 47
(il Be

iy P

(lii) S

livi B

Those elements impart colour to the flame on heating in it, the atoms of which
require low energy for the fonisation (i.e., absorb energy in the visible region
of spectrum). The elements of which of the following groups will impart colour
to the flame? -

H =2
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17.

18.

19.

20.

21.

i 1
ivi 17

Which of the following

representative eloments?
W 3,33, 53 87

M 2 10, 22, 36

i) 7, 17, 25, 37, 48
(v} 9, 35, 51, 88

stquences contain atomic numbers of only

Which of the following elements will gain one electron more readily in
comparison to other elements of their group?

@ Sig
(i)  Na (g
(i) O (g
v Clg)

Which of the following statements are correct?

() Helium has the highest first ionisation enthalpy in the periodic table.

(i) = Chlorine has less negative electron gain enthalpy than flucrine.
(iif) Mercury and bromine are liquids at room temperature,
(iv)

In any period, atomic radius of alkali metal is the highest,
Which of the following sets contain only isoelectronic ions?
M Zn", Ca®, Ga™ Al
() K, Ca™,Sc*, ar
i) P, S Cl K
iv) Ti", Ar, Cr¥" V™

In which of the following options order of arran
the variation of property indicated against it?

gement does not agree with
M Al™<Mg” <Na' <F (increasing ionic size)

) B <C<N <0 (increasing first ionisation enthalpy)

i) I<Br<Cl<F (increasing electron gain ent halpy)

(iv) Li<Na<K<Rb (increasing metallic radius)

Which of the following have no unit?
i) Electronegativity

(i) Electron gain enthalpy

(i) lonisation enthalpy

fiwh Makallts alooo



MATHEMATICS
WORKSHEET-1

(Q1 to Q10) There are four options against each question. Choose the option which
you consider the most appropriate as your answer,
1.1fa € N, N is set of natural numbers such that aN = {ax :x ¢ N ) then 3N n 7N =
{(a) 10N (b) AN (c) 21N (d) none
2. A and B are two sets with n(A)= 16 ,n(B)=14 and n[AUB)= 25 then n{An B)=
(a) 30 (b)S {c)6 (d) 2
3. ForanytwosetsAandB , AUB=AIf,
(a)BE A (b)AC B (c)B=z A (d) A=B
4 Foranyset A, AU A= Alscalled
(a) Idempotent Law (b) Assoclative Law (c) Identity Law (d) none
5. A= [x :x Is a prime number <10} and B= {y :y is an odd number <10) then
(a)AS B (b)BE A (c) A=B (d) none
6. In throw of a dice Which one of the following IS a null set:
(a) A= {x: x Is prime outcome) (b) B= {y: y is an odd outcome)
{c)C={2: z1adivisorof 7) (d) D = {u: u is a multiple of 7}
8.1f X={1, 2, p, 4, q) the cardinality of P(X) Is=
(a) 32 (b) 16 (c) 64 (d) 15
9. Two finite sets have m and n elements .The number of elements in power set of first is
48 more than number of elements in power set of the other, values of m and n are:
(a)7.6 (b)6.3 (c)4.,6 (d)7,4
10.fA={1,3,5,B]andB=(4,6,5)then

(a)ac A (b)4€ A (c){4)c A (d) none



11. Write the following in set bullder form

(2){7,14,21,28 ...} (b)(1,4,9,16,25, . ...100)

12. Write in tabular/Roster Form

(a) B = {x:xis aletter from word MATHEMATICS )

(b) X = {a: ais a month of year not having 31 days |

13, Define Equal, Equivalent, Universal and Power sels.

14. Represent the following by Venn diagram for sets A, B and C

(a)A-B (b) AnB' (AU B (d)An B (e) A NBnC

15 Showthat A-B=ANn B’

16. In a committee S0 people speak Spanish, 10 speaks both Spanish and French , how
many speak at least one of the two languages?

17.Let A, B & Care three sets such that AU B = AUC and AnB= AnC, then show that B =
S

18 fAcB,thenC-BcC-A

19. Show that A= B, If A nX = BnX = f and AUX = BUX

20. In a survey it was found that 21 people like product A, 26 like product B and 29 like

product C.If 14 like product A and B, 12 like product C and A, 14 like B and C and 8 like all

three product . How many like product B only,



WORKSHEET-2

1The range of the real function f{x) = |x| Is

A)[0,x) B) (0,e< ) C)R
21(f(x) = 4x~x?, x € R, then the value of f{a+1) - f{a-1) Is
A)4(a2) B)2(a+2) C)4a

3 The domain of the functionf{x) =Vx =1+ V3= xis

A) [1, =) B) (- =, 32) 0(1,3)
& The range of the function f{x) = x | x| Is

A) R+{0) B)R-{-11) C)(-1,1)

5 Which one of the following is not a function?

ANy} yER, x2 = ) B){(x.y): x,yER,y2=x)

CHixy): xyERx=y 3 ) DN(xy): x,yER,y=x 3 )

6 1 1{x) =(x-a)® (x-b)*, then fash) is

A)da’b? B)a’b? C) (a+b)’
7The value of [3.8] + [-3.8] Is

A8 B)O Q7

8 The domain of the function x “+2x+3 /x *=5x46 Is

D)[-1.1]

D)4(2-a)

D) [1,3]

D) {0.1]

D) a?ob!

D)-1



Two marks questions
11 Find the domain and range of the function f{x)= V16 - x°

12Let A= {9,10,12,12,13) and let /: A = N be defined by [(n) =the highest prime factor of n. Find the
range of [.

13Letl=((-18),(1,-2)(2,),.....) be a function from Zto 2 delined by f(x) = px + g, for some integers p
and q. Determine p and q.

14Let[:R=» Rbe given by f{x) = x 243 Find (1) x : [(x) = 28) (i) The pre-Images of 39 and 2 under .

15 Determine the domain and the range of the relation R, where R={(x, x 3 ) : x is a prime number less
than 10).

16 Find the domain and range of f(x) = :—_'-f- .

Four marks questions

17 Determine the domain and range of the function f{x) ={(x, 1 x ;0 <xcBixe N)
18 Find the domain and the range of the real function | defined by [{x)=v(2x-1).
19 Find the domain of the functions a) f{x) = x'+2xe1 b) f{x) = ¥* -Bxe12

20 Draw the graph of f{x) = |x-2|, x £ R. What are the domain and range of [(x)=] x-2| ?
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WORKSHEET-3

] - cos 2x sin v
. o el Y tan x T S ooty
V1 +cos2x 1-cos 2y
sin 2x —
= tan x ;,\:T\: cos 4y = COsY, ﬂ\,\(
1 + cos 2x 4
1 - cos 2x + sin 2x sin Y -+ sin 2y
= tan x b, — = = tan x
1+ cos 2x + sin 2x I -cosxy+cosy
cos 2x (= ; cosY T X))
———— =tan| Z-¢ §. ———=fan| -+ |
1 + sin 2x 4 ) 1-sinx \4 2
2T 2 3n 2 57 278 o . . 3x . .23% . 35z Yy Tx
COs" —+C0s" — +cos” — < cos” — =2 10 sin S TSI —+SIN"—+s8in~ — =)
8 8 8 8 N 8
. s 5[ a- B\
,(c05a+c05B)2+(smu-.-smB)‘--lcos ==
b - /
- 2(® x) .9fx x\ 1 . 24 S 4 . 4
. SIN“| —+ = | —sin k———J=—;smx 13. 1 +cos” 2x = 2(cos™x +sin'y)
8 2 8 2/ {2
3 _ (] -6
. €05~ 2x + 3 cos 2x = 4(cos®x —sin x)
(sin 3x + sin x) sin Xx+(cos3x-cosx)cosx =0
n .2(®m ) ) 5
cgsz(z-xJ—sm (I—th:sm?_r 17, cosdx = 1 -8cos~x+ Somsty
.2

18.

19.

20.

1.

22,

. : . . X 3
. Sin 3x + sin 2x —sin x =4 sin x cos = cos
2

sin 4x = 4in x cos” x~4 cos rsin x [INCERT EXEMPLAR
. B o o v SR S .
3(sin x —cos x)* + 6 (sin x + cos x)° + 4 (sin® x + cos =13
2(sin'5'x+c056x)—3(sin4x+cos4,r)+1 =0
1 .
COSGI—SinG.t=cc52I(I~—15m2 2::)

tan(n J+tan[——x]=2seclr
4 4

) cotzx-tanzx = 4 cot 2x cosec 2x

cos 4x —cos 4a = 8(cosx - cos a) (cos x + cos a) (C0S X - sin @) (cos X + sin a)

3x (NCERT

-5

- -



ENGLISH
WORKSHEET-1

| secrion - A READING SKILLS | (20 Marky

1. Read the Passage given below:

(1) I knpw many friends of mine who dri

FIassu: or Cocg gold, which they consider premium coffee. I may sound offensive but
nstant coffee is not the only way; in fa

Ct, it’s a very bad way of making coffee! Instant
coffee cannot match up to brewed coffee’s flavour nor does it have Arabica beans, It
uses Robusta beans that are lower in flavoyr, Don’t know the difference?! Read on...

(2) That plant might be a genius! It created a chemical that would keep pests away. Fortunately
for us and unfortunately for the plant - that plan did not work the way It was intended
to. The chemical might have averted a few pest attacks, but attracted a far greater threat
~ human beings, The plant I am talking about is coffee and the chemical is caffeine.

(3) To begin from the beginning - coffee is from a more mature part of the tree - the seed
- unlike other stimulants. The ripe berry is picked and de-pulped leaving us with a seed
called ‘green bean’ or ‘green coffee’. Green bean is uncharacteristically bland with a
taste nowhere close to that of coffee, but it is valued for its higher antioxidant levels,

(4) It’s an interesting phenomenon to see how this bland green bean turns to a flavourful
coffee bean. Coffee bean is a seed and like any other seed is rich in proteins, fats, and
all necessary ingredients for giving birth to a new plant, When exposed to heat, the fats
and carbohydrates in the bean turn into essential oils, which give the characteristic taste

and aroma to the coffee bean. The degree of roasting depends on the need or purpose
of use.



(5) These beans are ground so that the surface area of the bean is increased, which makes
extraction easier. The bean can be pround or crushed but making the particles uniform
will ensure equal extraction, OF else the smaller particle will get over extracted and the
larger one under extracted. Henee, the burr grinder is used to ensure that the coffec
bean gets ground in a uniform Way in which all particles are of similar sizes,

(6) Does under exiraction give a lighter coffee and over extraction a stronger one? No. For
lighter or stronger coffee less Of more coffec powder has to be used. WI..IY ? I_Fnd.?r
extraction will not get all the flavors of the coffee as the waler runs too quickly. 1t wij)
not get what you want - it will taste sour, Over-extraction will bring out all unnecessary
flavours rendering the taste bitter,

On the basis of your understanding of the above passage, answer the questions Ei‘*‘::}'::lﬂwc:l
=1

(f) Complete the sentence by choosing an appropriate option.
The author complained that his friends
(a) consumed only Flora classics.
(b) were not aware of different forms of coffee.
(c) were severely addicted to drinking coffee.
(d) considered Coco gold as premium coffee.

(if) Comment on the writer’s reference to the unique feature of the coffee plant. (paragraph 2)
(iif) List the reason why the author refers to humans as ‘great threat to coffee’ plants,

(iv) Select an option that conveys the same meaning as “energiser’ from words used in paragraph 3,
(a) bland (b) mature
(¢) antioxidant (d) stimulants
(v} Complete the given sentence with an appropriate inference with respect to the following :
Fats and carbohydrates turn into essential oils leading to
(vi) Comment on the writer's reference to the interesting phenomenon in paragraph 4,

(vif) Over-extraction does not give a stronger coffee. Based on your understanding of paragraph 6,
list one method to get stronger coffee.
(vi) The writer would not agree with the given statements based on paragraph five EXCEPT
(a) The burr grinder grinds coffee beans uniformly.
(b) Less surface area makes extraction easier.
(¢) Grinding gives stronger aroma.
(d) Good coffec is a mix of smaller and bigger particles,
(&) Why is it fair to say that the right degree of extraction of coffee is important?
(¥) Select the most suitable title for the above passage.
() The Art of Coffee Making
(b) Benefits of Consuming Coffee

(c) Green Coffee - The perfect antioxidant
(@) The Coffee Addict



+ Read the passage given below,

1) News - ’ .
(1) ——— j;};'iu t:a:’n :: remember the last time, you saw a teenager reading a book, newspaper
o I:-m_:.ky r:“ﬂ: n1m‘ alone. In recent years, less than 20 percent of teens repor!
, Eazine or newspaper dﬂl!}" for pfc;mure_ More than 80 PE[’CC“‘ say they

use social media ey -ordi I
Association ery day, according to research published by the World Psychologics!

(¥ Sscanned with OKEN Scanner

(2) “Compared with previous generations, leens in the 20005 spent more time online and less
time with traditional medin, such as books, mogazines and television™, said lead author of
the book yGen and professor of psychology st ABC University. “Time on digital media
has displaced time once spent enjoying o book or walching TV."

Swaner and her colleagues analysed data concluded from an ongoing study of a nationally
representative sample of approximately 50,000 eighth, tenth, and twelfth grade students
annually. They looked at survey results from 1976 to 2016, representing more than 1
million teenagers. While the study started with only twellth-graders in the 1970s, eighth-
and tenth-graders were added in 1991,

(3

e’

(4) Use of digital media increased substantially from 2006 to 2016. Among twelfth-graders,
internet use during leisure time doubled from one to two hours per day during that
period. It also increased 75 percent for tenth-graders and 68 percent for eighth-graders,

(5) “In the mid-2010s, the average twelfth-grader reported spending approximately two hours
a day texting, just over two hours a day on the internet — which included gaming — and
just under two hours a day on social media,” said Swaner, That's a total of about six
hours per day on just three digital media activities during their leisure time.”

(6) In comparison, tenth-graders reported a total of five hours per day and eighth-graders
reported four hours per day on those three digital activities. Consequently the spent
time in the digital world is seriously degrading the time they spend on more traditional
media such as print book and newspapers.

(7) The decline in reading print media was especially steep. In the early 1990s, 33 percent of
tenth-graders said they read a newspaper almost every day. By 2016, that number was
only 2 percent. In the late 1970s, 60 percent of twelfth-graders said they read a book or
a magazine almost every day; by 2016, only 16 percent did. Twelfth-graders also reported
reading fewer books each year in 2016 compared to how much they read in 1976, and
approximately one-third did not read a book {(including e-books) for pleasure in the year
prior to the 2016 survey,

(8) There's no lack of intelligence among young people. However due to over dependence on
digital media they find it difficult to focus for long periods of time and to read long-form
text. Subsequently, they find it challenging to understand complex issues and develop

critical thinking skills.

If"
Social Media Usage by Age
100%
1]
5 _ 84% B1%
8 % 75% - 1 3%
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E -§ 50% 45%
o E
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g g 25%
<
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18-29 30-49 50-64 65+  Age
Fig. 1 ‘J
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On the basis of your unde

(1)

(if)

(i)

(iv)

(v)

(vi)

(vif)
(viii)

(ix)

(x)

rstanding of the passage, answer the quustinﬁns gi*lven below: 10x1=1g
Does the following statement agree with the information given in paragraph 1?7
The writer believes that very few teens indulge in reading as 4 pleasurable activity.,
Select from the following:
True: if the statement agrees with the information.
False: if the statement contradicts the information.
Not given: if there is no information on this.
Select the option that displays the most likely reason for this research.
In order to find out...
(a) reading choices of teenagers.
(b) digital competency of teenagers.
(¢) speed of reading text.
(d) the decline of time spent on traditional media.
Complete the statement based on the following statement:
Traditional media has been replaced by digital media, we can siy this because

Do you think that the researchers of study added tenth and eighth graders to the survey
deliberately?
Support your answer with reference to the text.
Complete the given sentence by selecting the most appropriate option:
The concluding sentence of the text makes a clear case for - By listing it as a core
competency for analysis and application.

(@) following social media (b) reading long texts

(¢) building focus and concentration (d) developing constructive habits
Complete the given sentence by selecting the most appropriate option:

The digital activities that the twelfth-graders indulge in are
(a) texting, gaming, television
(b) texting, gaming, social media
(c) newspaper, books, magazine
() television, books, gaming
Complete the sentence appropriately with one/two words:
Teens today hardly read print media for .
Based on the reading of the text, state a point to challenge the given statement:
“Time on digital media has displaced time once spent enjoying a book or watching-TV i
What does the author mean by ‘degrading the time’ in para 67 h
(@) spending less time (b) waste of time
(c) consuming more time (d) saving time

As. per Fig. 1, the percentage of people above 50 yrs is
using social media.

{(a) greater than
(c) equal 1o

the percentage of teenagers

(b) less than
() negligible to



WORKSHEET-2

| SECTION - 4, RERDING gy |

| (22 Margs)
{, Read the following text,
1, Very often, we do not take the first
: : slep OWards g g 12
s task is & od .
The task is 50 big, Whay tan I do alop 7" So nu;hg Cause because g 2 10 oyreelye
environmental protection. a; Mg Eets done, There i

| e ]

. Itis good to adopt a tWO-uses-attityg

el B]’ puttin an arty
: . i
longer lease of life and USIng up fess ra g cle to a seco

| W material from nature. Qe
is the abuse of paper. The cleap sides of enve] o

reminders around the house, The more paper

For the same reason, we s i -
. iy , h should avoid the yse of paper napkins or paper plates, Cloth napkins
are just as good, for they can be washeg and used over and over again,

Another area which needs the most Urgent attention s effective garbage disposal, People who
are conscious about it follow rules and laws strictly, Asare

sult, their neighbourhoods are clean
and beautiful. Similarly, each one of us can contribute to a cleaner environment, Al kitchen

waste should be collected separately, Those of you who have green fingers can turn this into
valuable manure. Dig a pit and put the kitchen waste into it. When the pit is a little over half
full, cover it up with mud. Let nature do the rest. Within three or six months, we will have 1

good garden manure. It can also be done as a community project by digging a large pit in the
colony. Do take help of all the members, for nothing succeeds like co-operation.

nd use, we are giving it 3

of the worst things we do
Opes can be used 1o write small noles, lists and

We use, the more trees will have 1o be cut down,

A lot of people don't care about the environment because they don't understand lh_r: adverse
effect that society has on it. It is important to convince puupilc !u care about the EF"”T#“L
The first step would be to convince people to change by providing simple ﬂm-TmZi;ﬂu:tl?]tI:
and ways of doing things. The internet is a powerful t.nul and a grf:u[:t unmdcl :1-3; ol
minded people can be formed. People can share -:nwrunmf:mul atum:a :mr : lhlu i
pool in solutions and alternatives to educate one another. W{'h s c“rrtl: :;n':m importantly o
is in, it is imperative that people actively care about the environment an ta i
act now.



hased on the passage above.
for not Laking first step towards a good cayg,

and we cannot do anything alone.

Answer the following questions,
(a) Select the option that clussifics the reason
(i) Because we feel that the sk is too big
(i) Because we feel that nothing gets done anyhow.
ot responsible for th
(o fulfill the task.
in the given extract! ]

s : al lask.
(jif) Because we feel that we are i

(i) Because we feel that it is not our work
(b) What is the significance of two-uses attitude
(i) Putting an article o a sccond person, ,
(if) Putting an article to a second use giving it 4 longer lease of life.
(iii) Putting less material from nature.
(iv) Putting the task apart itsell
(c) Share evidence from the text, in aboul 40 words, to support
style is descriptive in nature.
(d) Complete the senlence appropriately with a characteristic ot description. |
and a group on social media of like-minded peqp),

the view that the writer's Writny
2

The internet is 2
can be formed.
(¢) Select the option that is similar in meaning to the word ‘succeeds’. ;
(i) triumph (if) lost
(iif) happy (iv) sad
(f) Explain in about 40 words, what procedure should one adopt for kitchen? )
(g) Inthe line, *...a lot of people don't care about the environment because they don't understanq
the adverse effect that society has on it.” What does the word ‘adverse’ mean here? 1

(h) How does the following impact the reader? 1

“There is much talk about environmental protection, air pollution and saving our forests'
(i) Read the five options (1) - (5) given below.
(1) More paper-less cutting of trees
(2) Ineffective garbage disposal
(3) Internet- a powerless tool
(4) Adopt a two-uses attitude
(5) Make unpleasant surrounding
Identify the option that DOES/DO corresponds with the passage.
(i) (1)and (2) (i) Only (4)
(iif) (3)and (4) (iv) Only(5)



WORKSHEET-3
[ secrion - A': READING SKILLS | (22 My

1. Read the following text.

I?

1. Sclf-respect is very different than relying on one’s cgo or False Self persona that serveg .
cover to show the world only “the good stuff” of a person’s personality. It s the gift v gie
aurselves when we become less motivated to please others in order to get their approva] gy
more motivated to live a life of authenticity and personal integrity despite whatever anyone

¢lse thinks about us.

2. The dismal fact is that self-respect has nothing to do with the approval of others—who are, afte
all, deceived easily enough; has nothing to do with reputation which is something that peaple
with courage can do without. It is to know the difference between the price of things and thei
value and the courage to own your mistakes,

3. Inbrief, people with self-respect exhibit a certain toughness, a kind of moral nerve; they display
what was once called character, a quality which, although approved in the abstract, sometimss
loses ground to other, more instantly negotiable virtues. Its slipping prestige is dismissed whe
one sces people coveting success or money or fame at all costs, Nonetheless, character—ihe
willingness to accept responsibility for one’s own life—is the source from which self-resped

springs.

4. To live without self-respect is to lie awake some night, beyond the reach of warm milk
phenobarbital, and the sleeping hand on the coverlet, counting up the sins of commission and
omission, the trusts betrayed, the promises subtly broken, the gifts irrevocably wasted throu
sloth or cowardice or carelessness. However long we: postpone it, we eventually lie down alome
in thal notoriously uncomfortable bed, the one we make ourselves. Whether or not we $&¢F
in it depends, of course, on whether or ot we respect ourselves,

5. ;In have Ifm! sense of one's intrinsic worth which, forbetter or for worse, constitutes M:“-_m{mt.
) p:}lunllx:}!fy 10 have everything: the ability to discriminate, 1o love and to remain indifire™
dc ; ' - I ' v [ § s

To lackit s to be locked within onesel, paradoxically incapable of either love or indiflere™

ITwe do not respect ourselves, we are

: v few
on the one hand forced to despise those who have sof



resources as o r.‘ttnmn willh s, 80 little perception s 1o -
Onthe ull'lﬂl',l '-I'-'ud.iru F-u::u]mrl}" in thrall to everyone we see .'”r-' hh."'d o our fatal weaknesses,
since our m:l_l-Jm.igu 15 untenable—their fylse otiGha .;.;f ;l‘-i:':tluhly determined to live out—
this fﬂﬂ}l“"*‘““’ o ?]EHSG others an attractive traip: o gilt fl iy .n"","" ourselves by thinking
our willingness Lo give. ' arimaginative empathy, evidence of
he following questions, based on the passage above. (426 Words)

Mswurl
Select the :}pliﬂﬂ that states the lalse self P e
'[ﬂ':' l:” selfispet P Un:-l{m il person :1c-:.‘c1rdjng to the author. |
l . ii) @ person's true pe :
(if) unauthentic mask (i) ‘real good “urffmrsanahty
() The writer would not agrec with the given statements based on paragraph three, EXCEPT
__________————" Ll
1

(i) self-respect is a virtue not appreciated in modern times.
(if) it used to be a non-negotiable virtue,
(iif) self-respect has stood its ground come what may.
(iv) itis losing ground to more instantly negotiable virtues.

(c) Why is it fair tt? say that the intrinsic u‘mnh of a person and self-respect have to go hand-in-

hand? Answer in about 40 words, ;

@ Complete the given sentence with an appropriate inference, with respect to the following. 1
Character— the willingness to accept responsibility for one’s life is the source

(¢) Select the option that conveys the opposite of *logical’, from words used in paragraph two. 1

(ii) paradoxical

(i) intrinsic
(iif) consort (rv) untenable
() Comment on t
(g) Inthe line ... people with self-respect e

display what was once called character ...

(h) Based on your understanding of paragraph four,
the given statement.

‘However long we postpone
the one we make ourselves.’
1

(i) Read the five statements (1)—(5) given below.
(1) If you don’t stand for something, you'll fall for anything.
(2) Handsome is as handsome does.
(3) Putting backbone into someone.
(4) Neither fish, nor fowl.

(5) Rolling stone gathers no moss. |
lentify the option that displays the title/s that DOES/DO correspond with the p

() (1) and (2) (if) Only (1)
(i) (2) and (3 (iv) Only (5)
b.. . ) 10

he writer's reference to self-respect as a gift we give ourselves. 2

xhibit a certain toughness, a kind of moral nerve, they
* What does the word ‘nerve’ mean here? 1

interpret the metaphor used by the author in
2

it, we eventually lie down alone in that notoriously uncomfortable bed,

Assugc.
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1. What does the nature of economy means?

2. Explain the concept of positive and normative economy with illustration?
3. Why is choice essential in the study of economics?

4. Explain how scarcity and choice go Together?

5. What happened if resource do not have alternative use?

6. How is production possibility front tire affected when resources are in efficiently
employed in an economy?

7. give the relation between total utility and marginal utility?

8. what do you understand by a consumer equilibrium in case of single commodity?
9. Explain the scope of statistic?

10. Define static as a singular noun and as a plural noun?

11. what are the main features of strategic as a numerical data describe any 4?

12. explain the limitations of statistics?

13. distinguish between primary data and secondary data?

14. What are the qualities of good questionnaires’?

15. write the difference between macroeconomic and microeconomic



